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I (a) {Use source shifting and transformation techniques to find voltage across 2Q resistory  [05] | COl| L3
shown in Fig 1(a). All resistor values are in ohms
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Fig. 1(a)
(b) [Find the current iy using Mesh analysis in the circuit shown in Fig. 1(b). [05] |[COIf L3
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Fig. 1(b). \\
2. [Find the power supplied by dependent source in the circuit of Fig.2 [10] . [CO1]| L3
3. |[Use nodal analysis to find v, in the network of Fig.3. (10] |COl| L3
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Tme the princi :
- principle of superposition to solve f ireuf i
. 5 ¢ for v, for the circuit shown in Fiz 4. | [ (Co2| L3 |
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6. [Determine the value of V3 such that the current through the impedance (3+4) ohmis [I10] |COI| L3 i
Zero. ' l 1 |
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7 Obtain the equivalent resistance R, for the circuit of Fig. 7 and hence find i. [10] [CoO1| L3 i
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